What value of a completes the equationy=a « 2% for the exponential growth function shown? 81“‘! Q
Q,

Describe how the graph of g(x)=6+2** ' — 4 compares to the graph of f(x)= 6+ 2X.

The graph of g(x) is shifted D unit(s) ¥ | and D unit(s) to the ¥ | of f(x).

Identify the domain, range, intercept, and asymptote of the exponential function. Then describe the end behavior.

f(x)=8+3%

Identify the domain, range, intercept, and asymptote of the exponential function. Then describe the end behavior.

3 X
f(x)=0.39 [E]

Identify the domain, range, intercept, and asymptote of the exponential function. Then describe the end behavior.
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